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Family Time!

Here comes your Vacation!
Let's make it more interesting and meaningful...

It's time for you to unravel something that holds your attention...

It's essential to invest your energy into maintaining a good relationship...

Suggested bucket list for you:-

1. Ditch your Gadgets :- Set limits on screen time not just for yourself but for the
entire family.Establish a household rule that says gadgets need to be shut off at

certain times.

2. Eat Dinner Together:- Eat at least one meal with your family.

3. Remain Active- With your parents, go for a walk, cook a meal, join a yoga

session, visit a place of worship once in a week and do meditation.

4. A Project Together- The project could be a simple one, you can read a book

within a stipulated time and write a book review.

/Benjamin Franklin rightly said N
“Tell me and | forget

Teach me and | remember

Involve me and | learn”. /

g
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Points to Ponder: -

+ Pick up your own plates after every meal.

4+ Use the three magical words — Please, Sorry and Thank You.

+ Read the Newspaper daily. Look for a piece of positive news and express it in

your own words under the heading ‘Did | Know it?’ \}9

Week 2: - 6 June 2022-10 June 2022

Subject based Practice Worksheets:

Page 2 of 2




'~ Bal Bharati

S\ PUBLIC SCHOOL

N O Pitampura

HOLIDAY HOMEWORK-2022-23
Class- X
SUBJECT: -ENGLISH LANGUAUGE AND LITERATURE
WEEK 2

Q1. Answer the following questions in 20-30 words.

People get support from family and friends during bad times. How does
Lencho’s family behave after the harvest is ruined?

‘Lencho was an ox of a man, working like an animal in the fields, but still he
knew how to write.” What does this line tell us about the norm amongst
such farmers, then?

What, according to you would have been the likely reaction of Lencho’s
wife upon knowing about him writing an actual letter to God?

iiii)

Q2. Answer the following questions in 20-30 words.

Rationalise what you think the poet was probably doing when the dust of
snow fell on him?

What does the presence of a hemlock tree tell you about the setting of the
poem?

The dusting of snow on account of the crow helped make the poet’s day
better. How do you think the crow's droppings might have impacted the poet?
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iiii)

Q2. Answer the following questions in 100-120 words.

Freedom is inconsequential if it is behind bars of prejudice and narrow
mindedness. How would you explain this statement? Support your answer
with suitable examples from the real world.

After having read the lesson on the oppression that communities faced in
South Africa, you were deeply hurt. You could also relate to the struggles
and hardships of millions of Indians who fought against the oppressive
British rule.

Write a diary entry expressing your feelings about oppression faced by
people in their homeland.
You may begin like this:

24 August 20XX, Monday 9:00 pm

My heart is filled with sadness as | think of the oppressed who
had to tolerate the inhuman attitude of the oppressors in their
ownland. ...
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TOPIC : POLYNOLMIALS
Q1. : : . ) )
Find the quadratic polynomial whose zeros are
(5 + 2\/5) and (5 —2\/5)
1
Q2. If o and o are zeros of 4x> — 17x + k— 4, find the value of £.
Q3.
Find the value of & such that 3x> + 2/kx +x — k— 5 has the sum of zeros as half of
thewr product.
Q4.

1
[f oo and 3 are zeros of x* — (k+ 6)x + 2(2k—1). find the value of kif o0 + 3 = 5 of .

Q5.

—5 1s one of the zeros of 2x* + px — 15, zeroes of p(x* + x) + k are equal to each
other. Find the value of .

Case study question

Basketball and soccer are played with a spherical ball. Even though an athlete
dribbles the ball in both sports, a basketball player uses his hands and
a soccer player uses his feet. Usually, soccer is played outdoors on a large field
and basketball is played indoor on a court made out of wood. The projectile (path
traced) of soccer ball and basketball are in the form of parabola representing

quadratic polynomial.



1. The shape of the path traced shown is
a) Spiral
b) Ellipse
c) Linear
d) Parabola
2. The graph of parabola opens upwards, if

a) a=0
b) a<0
c) a=0
d a=0

3. Observe the following graph and answer




In the above graph, how many zeroes are there for the polynomial?

a) 0
b) 1

c) 2
d) 3

4. The three zeroes in the above shown graph are
b) 2,31

c) -2, 3,1
d) -3,-1,2
e) -2,-3,-1

5. What will be the expression of the polynomial?
a)x®+2x*—-5x—6
b)x®+2x* —5x+6
c)x®+2x*+5x—6
d)x*+2x*+5x+6



Bal Bharati

PUBLIC SCHOOL
Pitampura
HOLIDAY HOMEWORK (2022-23)

CHEMISTRY

WEEK -2
Q1. If you collect silver coins and copper coins you may have seen that after some
days a black coating forms on silver coins and a green coating on copper coins.
Which chemical phenomenon is responsible for these coatings? Write the
chemical name of the black and green coatings

Q2 A substance X used for coating iron articles is added to a blue solution of a
reddish-brown metal Y. The colour of the solution gets discharged. Identify X and
Y and the type of reaction.

Q3 You are given the following materials

(i) Marble chips (ii) dilute hydrochloric acid (iii) Zinc granules

Identify the type of reaction when marble chips and zinc granules are added
separately to acid taken in two test tubes.

Q4 A, B and C are three elements which undergo chemical reactions in the
following way.

A203 + 2B - B203 + 2A

3CS04 + 2B - B2(S04)3 + 3C

3C0O + 2A - A203 + 3C

Answer the following:

(a) Which element is most reactive?

(b) Which element is least reactive?

Q5 Write the balanced chemical equations for the following reactions and identify
the type of reaction in each case.

(a) Nitrogen gas is treated with hydrogen gas in the presence of a catalyst at 773 K
to form ammonia gas.

(b) Sodium hydroxide solution is treated with acetic acid to form sodium acetate
and water.

(c) Ethanol is warmed with ethanoic acid to form ethyl acetate in the presence of
concentrated H2S04.

(d) Ethene is burnt in the presence of oxygen to form carbon dioxide, water and
releases heat and light

Q6 An aqueous solution of metal nitrate P reacts with sodium bromide solution to
form yellow ppt. of compound Q which is used in photography. Q on exposure to
sunlight undergoes decomposition reaction to form metal present in P along with
reddish brown gas. Identify P and Q. Write the chemical reaction and type of
chemical reaction.




Q7 Identify the oxidising agent (oxidant) in the following reactions:
(a) Pb304 + 8HCI - 3PbCl2 + Clz + 4H20

(b) 2Mg + 02 —» 2MgO

(c) CuSO4 + Zn - Cu + ZnSO4

(d) V205 + 5Ca - 2V + 5Ca0

(e) 3Fe + 4H20 - Fe304 + 4H:2

(f) CuO + Hz —» Cu + H20

Q8 Which among the following are physical or chemical changes?
(a) Evaporation of petrol

(b) Burning of Liquefied Petroleum Gas (LPG)

(c) Heating of an iron rod to red hot

(d) Curdling of milk

(e) Sublimation of solid ammonium chloride

Q9 On heating blue coloured powder of copper (II) nitrate in a boiling tube,
copper oxide (black), oxygen gas and a brown gas X is formed.

(a) Write a balanced chemical equation of the reaction.

(b) Identify the brown gas X evolved.

(c) Identify the type of reaction.

(d) What could be the pH range of aqueous solution of the gas X?

Q 10 (A) A brown substance ‘X’ on heating in air forms a substance ‘Y’. When
hydrogen gas is passed over heated ‘Y’, it again changes back into X'.

(i) Name the substances X and Y.

(ii) Name the chemical processes occurring during both the changes.

(iii) Write the chemical equations. [CBSE 2011]

(B) A metal is treated with dil. H2S04. The gas evolved is collected by the method
shown in the figure. Answer the following:

(i) Name the gas.

(ii) Name the method of collection of the gas.
(iii) Is the gas soluble or insoluble in water?
(iv) Is the gas lighter or heavier than air?
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NATIONALISM IN EUROPE

WEEK-2

SECTION A- OBJECTIVE TYPE QUESTIONS 1 Mark
Q.1 Find the correct Match.

A. Bismarck — Italy
B. Mazzini — Germany
C. Cavour — Britain
D. Metternich — Austria

Q2Which colour was not represented in the flag of Germany?

A. Green
B. Black
C. Red
D. Gold

Q3. What do you mean by La patrie?

A. The citizen

B. The motherland
C. The fatherland
D. The brother land

Q4.What do you mean by plebiscite?

A. An indirect vote by which all the people of a region are asked to accept or reject a proposal.
(b)Right to vote in general elections.

A direct vote by which all the people of a region are asked to accept or reject a proposal.
(d)None of these

OO0 w
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Q.5 Read the extracts and Answer the following questions.

Ideas of national unity in early nineteenth-century Europe were closely allied
to the ideology of liberalism. The term ‘liberalism’ derives from the Latin root
liber, meaning free. For the new middle classes liberalism stood for freedom
for the individual and equality of all before the law. Politically, it emphasized
the concept of government by consent. Since the French Revolution, liberalism
had stood for the end of autocracy and clerical privileges, a constitution and
representative government through parliament. Nineteenth-century liberals
also stressed the inviolability of private property. Yet, equality before the law
did not necessarily stand for universal suffrage. You will recall that in
evolutionary France, which marked the first political experiment in liberal
democracy, the right to vote and to get elected was granted exclusively to
property-owning men. Men without property and all women were excluded
from political rights. Only for a brief period under the Jacobins did all adult
males enjoy suffrage. However, the Napoleonic Code went back to limited
suffrage and reduced women to the status of a minor, subject to the authority
of fathers and husbands. Throughout the nineteenth and early twentieth
century’s women and non-propertied men organized opposition movements
demanding equal political rights.

(i). Which type of government was emphasized by Liberals?

A. Autocracy

B. Government of Consent
C. Both are correct

D. None of the above

(ii).What do you understand by Liberalism?
(1) I Code brought back the limited suffrage.

(iv) Which country was the first experiment of Liberal Democracy?

Q6. Direction: - In the questions given below, there are two statements marked as
Assertion (A) and Reason(R).
Read the statements and choose the correct option.

A. Both AandR are true and R is the correct explanation of A.

B. Both AandR are true but R is not the correct explanation of A.
C. Aistrue butR is false.

D. Ais false but R is true

Q7. Assertion (A): Treaty of Vienna was signed in 1815.
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Reason(R): The main objective was to undo the changes that had come about in Europe during

Napoleonic wars.

SECTION -B SUBJECTIVE TYPE QUESTIONS
SHORT ANSWER TYPE QUESTIONS - 3 Marks

Q8.How had the female figures become an allegory of the nation during the 19th century in Europe?
Analyse.

Q9. How did the local people in the areas conquered by Napoleon react to French rule? Explain.
Q9. Explain any three beliefs of the conservatism that emerged after 1815.

Q10. Explain the conditions that were viewed as obstacles to the economic exchange and growth by the
new commercial classes during the 19th century in Europe.

LONG ANSWER TYPE QUESTIONS - 5 Marks

Q11Analyse the measures and practices introduced by the French revolutionaries to
Create a sense of collective identity amongst the French people.

Q12 Enumerate any five changes brought about in Europe by the Treaty of Vienna(1815)

Q13.How did Balkans become the most serious source of nationalist tension in Europe after 18717 Explain
with examples.

Q14 Describe the process of unification of Germany.

Q15. Napoleon had destroyed democracy in France, but in the administrative field he had incorporated
revolutionary principles in order to make the whole system more rational and efficient. Analyze the
statement with arguments.
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I. Remplacez les mots en gras par les pronoms personnels et placez-les
correctement :

. Marianne achete les belles robes. (les/leur/eux)
. Pierre donne les chocolats a ses enfants. (leur les/les leur/ils eux)
. Achéte deux stylos pour ton mari. (y/les/en)

1
2
3
4. Préte-moi tes chaussures pour la course. (les/elles/leur)
5. Nous avons di aller a I'école. (y/en/lui)

6

. M. et Mme Dupont sont allés au cinéma (lui/y/en) avec M. et Mme Lavigne. (ils/
eux/elles)

7. Pierre se moque de ses amis. (les/eux/en)
8. Racontez cette histoire a Pierre. (elle lui/lui la/la lui)
9. Je pense a4 mes études supérieures. (y/leur/eux)
10. Quand est-ce qu'il vient de France ? (y/la/en)
11. Ma sceur a donné ses plumes a ses amis. (eux les/les; leurs/les leur)
12. Ne préparez pas le reportage (le/la/lui) sans votre collégue. (vous/nous/elle)
13. Apporte des fleurs pour ton professeur. (ils/en/leur)
14. Stéphanie se moque de mon travail. (lui/en/le)

15. Est-ce que vous vous étes intéressé a la musique. (lui/y/en)

Q2. Reliez les phrases par les pronoms relatifs composés :

1. Allons chez le boulanger. Nous achetons toujours des baguettes a lui.
Les Frangais gagneront ce match de foot. Les Indiens jouent contre eux.
J'ai envoyé une lettre aux amies. Elles ont répondu.

Je te montre mon ballon. Je jouais beaucoup avec ce ballon.
C'est une bonne entreprise. Il travaille pour cette entreprise.

Tu prendras cette rue. On est passé par cette rue hier.

C'est une belle idée. Tu as pensé a cette idée.

[l adore son chien. Il se promene avec son chien.

L'église est magnifique. J'habite a coté de cette église.

10 Voila les médicaments. Il faut faire attention a ces médicaments.
11. Lisez ce roman. Il y a beaucoup de suspens dans ce roman.

© PN U WN
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Erginze die richtige Priapositionen.

GE

Im Sommer fahren viele Leute ___ dem Auto in Urlaub.
_____dem Baum steht ein Auto.

Sie sitzt ____ Computer und arbeitet.

Die Tochter ____ Herrn Meier méchte eine Sprachreise machen.
Von der Schule gehen die Kinder direkt __ Hause.

Vielen Dank _____ die Informationen.

Wo warstdu ____ Wochenende? Wir waren ___ Schwimmbad und dann __ der
Stadt.

Was hast du ___ der Apotheke gekauft?

9. Der Unterricht beginnt ___ 15 uhr und dauert ___ 18 uhr.
10.___ 4 Uhr machen wir eine Pause.

11.Meine alte GrofSmutter kann __ ihre Brille fast nicht mehr sehen.
12.Er wohnt __seiner Tante.

13.Um zwei uhr kommen die Schiiler ___ der Schule.

14.__ 18 darf man in Indien wihlen.

15.____ Montag bis Freitag haben wir Unterricht.

16.Mein Buch liegt ___ dem Tisch.

17.Meine Ohrringe sind ____ Gold.

18.Wir warten ___ unsere Lehrerin.

19.Der Tag beginnt heute ___ derMathematikstunde.

20.In der Pause spielen die Kinder ___ dem Fussballplatz.

21.Mein Radiergummi ist ___ der Schultasche.

22.Ich danke dir ____ das Geschenk.

23.Sabina kommt ___ Deutschland.

24.Die Kinder laufen die Strasse ____.

25.Die Schiiler sind ___ die neue Lehrerin,sie gibt viel Hausaufgabe.
26.Ich arbeite ___ Wipro.

27.Ich bin krank. Ich muss ___Arzt.

28.Wir gehen heute Abend ___ unseren Eltern ____ Cafe.

29. _ Wochenende habe ich viel freizeit.

30.Dieses Lied habe ich ___ meiner Oma gelernt.
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